
ES 332: Exercises

1. Given the circuit below:
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(a) Compute and draw theNorton equivalent circuit of the area surrounded by the dashed rectangle.

(b) Compute and draw theTheveninequivalent circuit of the area surrounded by the dashed rectangle.

2. For the circuit shown in the figure below, suppose that the current through the inductor is as described in the right.
Find and sketch:

(a) vL(t)

(b) vR(t)

(c) vs(t)
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3. For the circuit shown in the figure below, suppose thati(0) = −4A andv(0) = 0 V. Find

(a) v(t), and

(b) i(t).
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4. For the circuit shown in the figure below, the impedanceZ is made up of a ResistorR = 78Ω in series with a capacitor
with capacitanceC = 60µ F. determine the values of

(a) I3, and

(b) I1.

+

+

Z

Z

Ι 3

Ι 1

Ι 2

v
1

Z

v2

1

 v2(t) = 3

v  (t) =  π 354 cos (120    t − 30

354 cos (120    t − 90 )
o

 )
o

  π  

5. A voltage sourcevs(t) = cos(2t) V, a 1

4
F capacitor, an inductorL, and a resistorR are all connected in series. Given

that the voltage across the resistor is 2 V rms and the resistor absorbs 1 W, find R and L.
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